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Operating System
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Paper : CS-04/1T-04

Time : 3 Hours | [ Maximum Marks : 55

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

et - o wwA-um ‘e, ‘IR ‘R i el B fawfsa ®
Yo% ©UE & FRITgER 9eAi & IW S

Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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What is Thread ?
Thread 1 & ?

What is Turn Around Time ? Give an

example.

Turn Around Time F1 & ? S0 difSQ|
What do you mean by Distributed Systems ?
Distributed Systems ¥ 9 &1 THed § ?
What is a Shell ? Name any #wo shell.

Shell #1 & ? f%= &t Shell %1 ™ fafeT |
What is the full form of GUI and CUI ?

GUI 3R CUI &1 9 919 &1 § ?
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(vi) Why are Sockets used ? 3. How process are represented in Operating System

Sockets 1 STa¥IHaAT F § ? using Process Control block (PCB) ? Explain with
(vil) What do you mean by ‘Page’ ? Give an suitable examples.
example. JEE hHUA leh (HIEe) H SUART Hlh  STHRIT
Page’ ¥ ST F T T 7 ST TAT foey # 999 &1 Sy U S § 7 SUgE SQe
Section-B 4x6=24 Tfed TR

(Short Answer Type Questions) i
4. Discuss the strengths and weakness of

Note .— Answer any four questions. Each answer should not , , , , ,
implementing an access matrix using access list

exceed 200 words. Each question carries 6 marks. ‘ ‘ '
that are associated with objects.
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s 200 v # fEfie FRT YO T 5. Explain various Authentication methods used in

6 3% 1 T system security with suitable examples.
2. What are benefits of multiprogramming ? Explain. faeen guan 9 swam &t S aeft fafie g

TETIITHT & 1 FEe § 7 SHemEy | faferdi 1 STge ST & WY FHEEl |

CS—04/IT-04/7 (3) TC—437 Turn Over CS—04/IT-04/7 (4) TC-437



. What is Operating System ? Discuss various

components of Operating System.

sArRfen fawen 71 § 7 e fawn & fafim wewi
1 FUA HIFSC |

. Write a short note on Semaphore.

Semaphore W gfera feoqoft fafem |

. What do you mean by Virtual Memory ? Explain

with suitable example.
TSI HERN N T 7 SN & Y HHISY |
. Write short note on System Call.
fo=n wfa W gfera fewoi fafew)
Section—-C 2x12=24

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 200 words.

Each question carries 12 marks.
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10. Explain page replacement Algorithm (any two)

with suitable example.
ot &1 99 e Teiied 1 9o Sereer |fea
RIS |

11. Explain the hierarchy of memory organization in

a computer with neat diagram.
FrR H HAR WS & TSIEH & T fad |fed
HHEATRT |

12. What you understand by safe and unsafe state ?
Explain banker’s algorithm with necessary data

structure for deadlock avoidance.

TUF Td T W T 3T 1 T99d © 7 SSaih o
T & fau smavasw @ TEA & WY TR &
THENREH i AT ST |
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13. Write short notes on the following :
(@) Peer-to-Peer computing environment
(b) Client-Server computing
frafafea = d@fva femfrt fafex
(31) Peer-to-Peer computing environment

(&) Client-Server computing
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